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QUESTION 1
(a) What is the meaning of administrative tax efficiency? (2)
Answer:
minimising administration costs and compliance costs
QUESTION 2
Why are general taxes (e.g. a tax on all motor cars) more efficient than selective taxes (e.g. an excise tax on only BMWs)? Explain your answer using indifference curves. (15)
Answer:
· original equilibrium at E0
· selective tax on BMWs.. distorts relative prices... budget line pivots (AB to AF)… new equilibrium at E2
· compare a neutral tax to selective tax which generates same tax revenue (GE2)
· neutral tax e.g. lump-sum tax (general tax on all motor cars) ... parallel shift of budget line (AB to CD)
· equilibrium at E1
· excess burden is illustrated by welfare/utility differences (U1 versus U2)
Diagram (5 marks) (note that indifference curves cannot intersect and both AF and CD passes through E2)
May 2013 Question 3
Compare, with the aid of a diagram, the incidence of a unit tax levied on the suppliers of an essential product to that of the same unit tax levied on the suppliers of a luxury product. Assume a ‘normal’ supply curve that increases from left to right.  What is your conclusion with regard to the impact of elasticity’s on tax incidence? (15)
May 2013 Question 5
(a) Analyse, with the aid of a diagram, the tax incidence of a unit tax levied on the suppliers of bread (an essential product) Assume a ‘normal’ supply curve that increases from left to right. (10)
May 2013 Question 7
(a) Explain with the aid of a diagram, the excess burden of a personal income tax on labour income. (You may leave out the discussion of the income and substitution effects of the tax) (10)
